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O

Al '110~'114
= AN HALSF=( @9 : Bg/kg-dry ) ZSAH 9
=z A =} (HAA~F)
=
T 6OCO 134CS 137CS 40K 9OSr 137CS QOSr
0.97
A= 02.02 | <MDA | <MDA | 1.73+0.12 |498+18| - 170 -
= N 35° 18 53.57, E 129° 15" 42.0”
* 1.73 10.80
- = | 02.02 | <MDA 17.1840.59 | 429+16| - -
= +0.12 ~48.89
1= A N 35° 16" 55.37, E 129° 15" 30.2"
0.34
Aek 1 02.02 | <MDA | <MDA | 0.90+0.08 |842+30| - vear|
3 N 35° 20" 11.07, E 129° 16" 28.0"
0.50
02.04 | <MDA 49.91+1.50 |351+13| - - -
+0.09
Z3% | N 35° 10" 58.0°, E 129° 12" 09.0”
A B | 02.04 | <MDA | <MDA | 60.36+1.80 |324+13| - - -
)1\_]__
3% | N 35° 10" 51.0°, E 129° 11° 48.0"
1=
o A |02.25 | <MDA | <MDA |110.87+3.14 | 514+19
B |02.25 | <MDA | <MDA | 15.46+0.50 | 805+29
3% | N 35° 3 40.07, E 128° 56" 08.0"
'"10~'11d
AN F WA %=( 49 © Ba/kg-dry ) SAHY
SEY (H&2~F)
6OCO 134CS 137CS 4OK 137CS
02.02 | <MDA | <MDA |1.2140.08| 766+27 | 0.76~1.96

N 35° 20" 10.97, E 129° 16" 28.5"




'10~'114d
A A5 EE( B9 1 Ba/l) =49
9 (B 2~A))
3H 6OCO 1311 134CS 137CS SH 131I
<MDA
02.02 <MDA | <MDA | <MDA | <MDA | <MDA 596 <MDA
N 35° 19" 11.57, E 129° 15" 46.27
'10~'114d
E A5 EE( B9 1 Ba/l) =49
9 (B2~A))
3H GOCO 1311 134CS 137CS SH 131I
02.02 | <MDA | <MDA | <MDA | <MDA | <MDA | <MDA | <MDA
N 35° 20" 11.0", E 129° 16" 28.0"
%49
'10~'11¢
AR | BASEE( B9 1 Ba/ke-fresh ) =49
A7} CESEL:)
GOCO 1311 134CS 137CS 7Be 4OK QOSr 137CS QOSI,
0.31 38.32 | 87.31
02.02 | <MDA | <MDA | <MDA - <MDA -
+0.04 | £1.42 | £3.5




Y e WA E%( @9 @ mBa/L, '10~'113 SAHS
ZH = A =
3r1 . - =
e A¥llEk 2 °H ¢ Ba/L) (Ha~H)
X] H EZ} 3 58 134 137 90 3 137 90
B H Co Cs Cs | *°Sr | #B H Cs Sr
13.22 1.50 8.892 <MDA 1.21
2 02.24 <MDA | <MDA | <MDA '
o +0.70 +0.28 ~10.5 ~3.94 ~3.68
9.36 1.74 853 <MDA 1.03
H 2~
LHj | 02.10 | [ | <MDA | <MDA | <MDA | " 1254 | ~320 | -z01
10.04 1.72 8.20 0.90
28] 02.10 <MDA | <MDA | <MDA ' <MDA
L +0.70 +0.29 ~12.30 ~2.30
9.86 8.58 <MDA 0.87
-H 2~
38+ | 02.10 068 <MDA | <MDA | <MDA | <MDA 1150 | ~9.84 330
8.98 1.89 7.76 <MDA 0.49
H A~
AW | 02.10 067 <MDA | <MDA | <MDA 0.2 1280 | ~259 e
O szxF
AR A '10~'11
23 3 WA F=( @9 © Ba/kg-fresh ) SAH 9
24 9 (A2~ )
= 54 58 95 110m 131 134 137 920 110m 131 137, 90,
= 7& ;(]_ Mn Co Nb Ag I Cs Cs Sr Ag I Cs | *sr
<MDA
4 | 02.17 | <MDA | <MDA | <MDA | <MDA <MDA <MDA | <MDA - - 0.37 - -
0.24 .
A& | 02.28 | <MDA | <MDA | <MDA | <MDA 0,05 <MDA | <MDA - - <MDA - -
% | 02.28 | <MDA | <MDA | <MDA | <MDA <MDA <MDA | <MDA - - <MDA - -
ik 0.20
B2 02.28 | <MDA | <MDA | <MDA | <MDA +(‘) o <MDA | <MDA - - <MDA - -
0.23 <MDA
9 | 02.20 | <MDA | <MDA | <MDA | <MDA <MDA | <MDA - - - -
+0.03 ~0.88
0.19
o]% | 02.20 | <MDA | <MDA | <MDA | <MDA +0.01 <MDA | <MDA 8.28




EAAEAT( 29 - mBa/m' )
T AH LA PAH R = A A&

1311 134CS 187CS
#1 02.08,11:00~02.14,10:25 <MDA <MDA <MDA
#2 102.14,10:30~02.24,13:20 <MDA <MDA <MDA




